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ERROR DETECTION




Q.1. Long life is good if one be happy

and has friends.
a) if one be happy
b) No error

¢) and has friends.

d) Long life is good

Answer: (a)

Here, if one is happy is the right usage.




Q.2 Do you know (1)/ whom the (2)/ next

speaker is? (3)/ No error (4)
a) whom the
b) next speaker is?

¢) Do you know

d) No error

Answer: (a) Who is used to show which person

or people you mean/used in question.



Q.3 We have been under (1)/ a lot of
pressure to (2)/ open fifty new stores (3) /

by the ending of the year (4)
a) by the ending of the year
b) a lot of pressure to

¢) We have been under

d) open fifty new stores

Answer: (a) Replace “ending” with “end”



Q.4 He needs not have shouted at me that way.

a) not have shouted
b) He needs

¢) No error

d) at me that way.

Answer: (b)
with a Singular Subject, need not is used.
Hence, He need is the right usage.



Q.5 In spite of the best governmental efforts, (1)/
emission of greenhouse gases (2)/ and noxious
chemicals (3)/ remain a cause of worry (4)

a) remain a cause of worry

b) emission of greenhouse gases

¢) In spite of the best governmental efforts,

d) and noxious chemicals

Answer: a. Replace remain with remains



Q.6 There were extensive (1)/ lawn in front
(2)/ of the bungalow. (3)/ No error (4)

a) lawn in front
b) of the bungalow.

¢) There were extensive

d) No error

Answer: (a)
Here, lawns in front is the right usage.



Q.7 Had I been (A)/ in my brother’s position (B)/
I would refused the offer. (C)/ No error (D)

a) in my brother’s position
b) I would refused the offer.
¢) Had I been

d) No error

Answer: b. add have after would
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Q.8 Inspite that organisations are aware (1)/ of the
importance of IT (2) / they often do not know(3)/
how to deploy it effectively(4)

a) how to deploy it effectively

b) of the importance of I'T

c¢) Inspite that organisations are aware
d) they often do not know

Answer: (c¢) Replace in spite with in spite of



Q.9 I succeeded persuading him (1)/ to come with

me (2)/ only after hours of argument. (3)/ No error
(4)

a) to come with me

b) only after hours of argument.
¢) I succeeded persuading him

d) No error
Answer: (c¢) Here, I succeeded in persuading him

is the right usage.



Q.10 I have come (A)/ as soon as (B)/ the

customers leave your shop. (C)/ No error (D)

a) as soon as
b) the customers leave your shop.
¢) I have come

d) No error

Answer: (c) As the structure suggests, Future
simple i.e., I Shall/will come .... should be
used.






Q.11 He plants a mango tree.

(A) A mango tree was planted by him.
(B) A mango tree is planted by him.
(C) A mango tree has planted by him.

(D) A mango tree planted by him. --I

Answer: (B) A mango tree is planted by him.
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Q.12 He was taken to the hospital by his friends.
(A) His friends had taken him to the hospital.
(B) His friends have taken him to the hospital.
(C) His friends take him to the hospital.

(D) His friends took him to the hospital.

Correct Answer : D



Q.13 I have written this essay.

(A) This essay had been written by me.
(B) This essay is written by me.

(O) This essay has been written by me.
(D) This essay was written by me.

Correct Answer : C



Q14. The woodcutter cuts down the tree.

(A) The tree was cut down by the woodcutter.

(B) The tree had been cut down by the woodcutter.
(C) The tree got cut down by the woodcutter.

(D) The tree is cut down by the woodcutter.

Correct Answer : D



Q15. Police caught the thief.

(A) The thief was catch by police.

(B) The thief was caught by police.

(C) The thief was being caught by police.

(D) The thief was catch by police.

Correct Answer : B
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Q16. Who broke the wall painting?
(A) By whom was the wall painting broken?

(B) By who was the wall painting broken?
(C) By whom had the wall painting been broken?
(D) By whom was the wall painting broke?

Correct Answer : A
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Q17. That girl will write an application.

(A) An application would be written by that girl.
(B) An application would written by that girl.
(C) An application will be written by that girl.
(D) An application will be wrote by that girl.

Correct Answer : C



Q18. The singer was singing an old melody.

(A) An old melody was being sung by the singer.
(B) An old melody were sung by the singer.

(C) An old melody is sung by the singer.

(D) An old melody was sung by the singer.

Correct Answer : A



Q19. They have painted the door.
(A) The door was painted.
(B) The door has been painted.

(C) The door is painted.
(D) The door be painted.

Correct Answer : B



Q20. We make butter from milk.
(A) Butter is being made from milk.

(B) Butter has been made from milk.
(C) Butter was made from milk.
(D) Butter is made from milk.

Correct Answer : D



NARRATION (DIRECT &
INDIRECT SPEECH)
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Q21. I said, "I came here yesterday."

(A) I said that I had come there the previous day.
(B) I say that I went there the previous day.

(O) I said that I came here that day.
(D) I said that go here yesterday.

Answer: (A)



Q22. He said, " The government is writing letters."
(A) He said that the government will write letters.
(B) He said that the government wrote letters.

(C) He said that the government is writing letters.

(D) He said that the government was writing letters.

Answer: (D)



Q23. He said, " I have passed the examination."
(A) He said that he has passed the examination.

(B) He said that he had passed the examination.

(C) He said that he had to pass the examination.

(D) He announced that he has passed

examination.

Correct Answer : B

the



Q24. "Don't play on the grass, boys,” she said.

(A) She told the boys that they should not be
playing on the grass.

(B) She told the boys not to play on the grass.

(C) She ordered the boys "Don't play on the grass
"

(D) She said to the boys that they should not play

on the grass.
Correct Answer : B



Q23. The traveller said, " What a beautiful sight! "
(A) The traveller said that it was beautiful.

(B) The traveller remarked the beautiful sight.

(C) The traveller exclaimed that it was an beautiful
sight.

(D) The traveller exclaimed that it was a very
beautiful sight.

Correct Answer : D
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—/

"What a terrible storm it is!" he said.

(A) He exclaimed that it will be a terrible storm.
(B) He exclaimed that it is a terrible storm.

(C) He exclaimed that it was a terrible storm.

(D) He exclaimed that it has been a terrible storm.
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Home Work Answer

—/

Deliberately and maliciously set
something (buildings usually) on fire.

1. Agrarian

2. Arson

3. Ambush
4. Apex
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